
Dukaat 10
NL 5751 PW, Deurne

Tel: +31 (0) 493 322068
info@verpas.nl

Kvk nr: 17227692
BTW nr: NL819535722B01

003051. STERKNOP PA 2 DLG.  + GEM. 6 KNT. MOER/BOUT
Op aanvraag:

Zonder gemonteerde bout of moer

Artikelcode D d H Draad Draadlengte

003051.040060000.000 40 18 26 M 6 EXCL. zwart

003051.040060001.000 40 18 26 M 6 MOER zwart

003051.040060121.000 40 18 26 M 6 12 zwart

003051.040060161.000 40 18 26 M 6 16 zwart

003051.040060261.000 40 18 26 M 6 26 zwart

003051.040060361.000 40 18 26 M 6 36 zwart

003051.040060461.000 40 18 26 M 6 46 zwart

003051.040060561.000 40 18 26 M 6 56 zwart

003051.040060661.000 40 18 26 M 6 66 zwart

003051.040060761.000 40 18 26 M 6 76 zwart

003051.040080000.000 40 18 26 M 8 EXCL. zwart

003051.040080001.000 40 18 26 M 8 MOER zwart

003051.040080121.000 40 18 26 M 8 12 zwart

003051.040080161.000 40 18 26 M 8 16 zwart

003051.040080261.000 40 18 26 M 8 26 zwart

003051.040080311.000 40 18 26 M 8 31 zwart

003051.040080361.000 40 18 26 M 8 36 zwart

003051.040080461.000 40 18 26 M 8 46 zwart

003051.040080561.000 40 18 26 M 8 56 zwart

003051.040080661.000 40 18 26 M 8 66 zwart

003051.040080761.000 40 18 26 M 8 76 zwart

003051.040080861.000 40 18 26 M 8 86 zwart

003051.040080961.000 40 18 26 M 8 96 zwart

003051.040081101.000 40 18 26 M 8 106 zwart



Artikelcode D d H Draad Draadlengte

003051.040081161.000 40 18 26 M 8 116 zwart

003051.050060000.000 50 18 26 M 6 EXCL. zwart

003051.050060001.000 50 23 34 M 6 MOER zwart

003051.050060121.000 50 18 34 M 6 12 zwart

003051.050060161.000 50 18 34 M 6 16 zwart

003051.050060261.000 50 18 34 M 6 26 zwart

003051.050060361.000 50 18 34 M 6 36 zwart

003051.050060461.000 50 18 34 M 6 46 zwart

003051.050060561.000 50 18 34 M 6 56 zwart

003051.050060661.000 50 18 34 M 6 66 zwart

003051.050060761.000 50 18 34 M 6 76 zwart

003051.050080000.000 50 18 34 M 8 EXCL zwart

003051.050080001.000 50 23 34 M 8 MOER zwart

003051.050080121.000 50 18 34 M 8 12 zwart

003051.050080161.000 50 18 34 M 8 16 zwart

003051.050080211.000 50 18 34 M 8 21 zwart

003051.050080261.000 50 18 34 M 8 26 zwart

003051.050080311.000 50 18 34 M 8 31 zwart

003051.050080361.000 50 18 34 M 8 36 zwart

003051.050080461.000 50 18 34 M 8 46 zwart

003051.050080561.000 50 18 34 M 8 56 zwart

003051.050080661.000 50 18 34 M 8 66 zwart

003051.050080761.000 50 18 34 M 8 76 zwart

003051.050080861.000 50 18 34 M 8 86 zwart

003051.050080961.000 50 18 34 M 8 96 zwart

003051.050081161.000 50 18 34 M 8 116 zwart

003051.050100000.000 50 18 34 M10 EXCL. zwart

003051.050100001.000 50 23 34 M10 MOER zwart

003051.050100001.001 50 23 34 M10 MOER wit

003051.050100121.000 50 23 34 M10 12 zwart

003051.050100161.000 50 23 34 M10 16 zwart

003051.050100221.000 50 23 34 M10 21 zwart

003051.050100261.000 50 23 34 M10 26 zwart

003051.050100311.000 50 23 34 M10 31 zwart

003051.050100361.000 50 23 34 M10 36 zwart

003051.050100361.001 50 23 34 M10 36 wit

003051.050100461.000 50 23 34 M10 46 zwart

003051.050100561.000 50 23 34 M10 56 zwart

003051.050100561.001 50 23 34 M10 56 wit

003051.050100661.000 50 23 34 M10 66 zwart

003051.050100661.001 50 23 34 M10 66 wit

003051.050100761.000 50 23 34 M10 76 zwart

003051.050100861.000 50 23 34 M10 86 zwart



Artikelcode D d H Draad Draadlengte

003051.050100961.000 50 23 34 M10 96 zwart

003051.050101161.000 50 23 34 M10 116 zwart

003051.063080000.000 63 23 40 M 8 EXCL. zwart

003051.063080001.000 63 23 40 M 8 MOER zwart

003051.063080121.000 63 23 40 M 9 12 zwart

003051.063080161.000 63 23 40 M 8 16 zwart

003051.063080261.000 63 23 40 M 8 26 zwart

003051.063080361.000 63 23 40 M 8 36 zwart

003051.063080461.000 63 23 40 M 8 46 zwart

003051.063080561.000 63 23 40 M 8 56 zwart

003051.063080661.000 63 23 40 M 8 66 zwart

003051.063080761.000 63 23 40 M 8 76 zwart

003051.063080861.000 63 23 40 M 8 86 zwart

003051.063080961.000 63 23 40 M 8 96 zwart

003051.063081161.000 63 23 40 M 8 116 zwart

003051.063100000.000 63 23 40 M10 EXCL. zwart

003051.063100001.000 63 23 40 M10 MOER zwart

003051.063100121.000 63 23 40 M10 12 zwart

003051.063100161.000 63 23 40 M10 16 zwart

003051.063100261.000 63 23 40 M10 26 zwart

003051.063100361.000 63 23 40 M10 36 zwart

003051.063100461.000 63 23 40 M10 46 zwart

003051.063100561.000 63 23 40 M10 56 zwart

003051.063100661.000 63 23 40 M10 66 zwart

003051.063100761.000 63 23 40 M10 76 zwart

003051.063100861.000 63 23 40 M10 86 zwart

003051.063100961.000 63 23 40 M10 96 zwart

003051.063101161.000 63 23 40 M10 116 zwart

003051.080100000.000 63 23 40 M10 EXCL. zwart

003051.080100001.000 80 25 52 M10 MOER zwart

003051.080100161.000 80 25 52 M10 16 zwart

003051.080100261.000 80 25 52 M10 26 zwart

003051.080100361.000 80 25 52 M10 36 zwart

003051.080100461.000 80 25 52 M10 46 zwart

003051.080100561.000 80 25 52 M10 56 zwart

003051.080100661.000 80 25 52 M10 66 zwart

003051.080100761.000 80 25 52 M10 76 zwart

003051.080100861.000 80 25 52 M10 86 zwart

003051.080100961.000 80 25 52 M10 96 zwart

003051.080101161.000 80 25 52 M10 116 zwart

003051.080120000.000 80 25 52 M10 EXCL. zwart

003051.080120001.000 80 25 52 M12 MOER zwart

003051.080120361.000 80 25 52 M12 36 zwart



Artikelcode D d H Draad Draadlengte

003051.080120461.000 80 25 52 M12 46 zwart

003051.080120561.000 80 25 52 M12 56 zwart

003051.080120661.000 80 25 52 M12 66 zwart

003051.080120761.000 80 25 52 M12 76 zwart

003051.080120861.000 80 25 52 M12 86 zwart

003051.080120961.000 80 25 52 M12 96 zwart

003051.080121161.000 80 25 52 M12 116 zwart


